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Worksheet 5
[The Squeeze Theorem)]

1. Use the Squeeze Theorem to show that

i, lim( x4+ x3 sin(ﬂ)) =0
x-0 X

ii. lim (xz cos ( 201\:x) ) =0
x-0 7

2. If 1<£fx) < (x2 + 2x + 2) for all values of x, determine  lim fx).

x--1

3. If 3x < flx) < x*> +2 for 0 < x < 2,determine lim fx).

x-1

4. Use the Squeeze theorem to determine lim (x4 oS ( i) )
x-0 X

sin (E)
5. Use the Squeeze theorem to show that lim \/F e ) =0

x-0
6. Use the Squeeze Theorem to evaluate the following limit :

lim ( sin (x))

X

X— oo



